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1. Complete the table. 

y = 3x - 6
	x
	y

	-2
	1[image: image3.wmf]



	0
	2[image: image4.wmf]



	3
	3[image: image5.wmf]




2. Graph the equation. 
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3. Find the slope of the line that passes through the given points, if possible. (If the slope is undefined, enter UNDEFINED in the answer box.) 

[image: image28.png](2. -9).(1.
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4. Determine the slope of the line in the following graph. [image: image30.wmf]
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[image: image31.wmf]The slope is positive. [image: image32.wmf]The slope is negative.     [image: image33.wmf]The slope is zero. [image: image34.wmf]The slope is undefined. [image: image35.wmf]None of these answers is correct. 
[image: image36.png]



5. Use slope-intercept form to write the equation of the line with the following properties. 

m = 6, passing through (-3, -4) 

y = 

1
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6. Write the following equation in slope-intercept form. 
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Find the slope m and the y-intercept (0, b). 
m = 2[image: image43.wmf]

 
 b = 3[image: image44.wmf]

 


7. Find the values. 

[image: image45.png]



	f(6) = 
	1[image: image46.wmf]



	f(-6) = 
	2[image: image47.wmf]




8. Find the following value given that f (x) = 2x + 1. (Simplify the answer as much as possible.) 

f (b) - f (1) 

1
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9. Solve the system by graphing, if possible. (If the system has no solution, enter NONE for each answer. If the system is dependent, enter DEPENDENT for each answer.) 

[image: image50.png]



x = 1[image: image51.wmf]


y = 2[image: image52.wmf]


10. Find the following value of the given function. 

[image: image53.png]



f(2) = 

1
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11. Solve the system by substitution, if possible. (If the system has no solution, enter NONE for each answer. If the system is dependent, enter DEPENDENT for each answer.) 

[image: image56.png]19




x = 1[image: image57.wmf]


y = 2[image: image58.wmf]


12. Solve the system by addition, if possible. (If the system has no solution, enter NONE for each answer. If the system is dependent, enter DEPENDENT for each answer.) 

[image: image59.png]



x = 1[image: image60.wmf]


y = 2[image: image61.wmf]


13. Solve the inequality. Give the result in set notation. (If you need to use [image: image62.png]


or –[image: image63.png]


, enter INFINITY or –INFINITY, respectively.) 

-6 < 2x < 12 

{x | 1[image: image64.wmf]

 < x < 2[image: image65.wmf]

} 

14. Solve the inequality. Give the result in interval notation. (If you need to use [image: image66.png]


or –[image: image67.png]


, enter INFINITY or –INFINITY, respectively.) 

7(x + 6) [image: image68.png]


6(x + 10) < 4(x - 5) 
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mc

1 [image: image70.wmf]
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, 3[image: image72.wmf]
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15. Solve the inequality. Give the result in interval notation. (If you need to use [image: image75.png]


or –[image: image76.png]


, enter INFINITY or –INFINITY, respectively.) 

6(x - 4) [image: image77.png]


0 and -9x < 7 
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2[image: image80.wmf]

, 3[image: image81.wmf]
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16. Solve the equation, if possible. (If it is not possible enter NONE.) 

[image: image84.png]



x = 1[image: image85.wmf]

 (smaller value) 
x = 2[image: image86.wmf]

 (larger value)

17. Solve the inequality. 

|9 − 5x| ≥ 14 
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, -1] [image: image96.png]


[23/5, [image: image97.png]
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Graph the solution. 
[image: image99.wmf]
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18. Perform the operation. 

(3z - 5) - (-8z + 2) 

1
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19. Find the product. 

[image: image102.png](Ty + 1) (Ty” + 6y +2
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20. Factor the expression. 
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21. Solve the following equation. (Enter solutions from smallest to largest. If a solution has a multiplicity of two, enter it in consecutive answer boxes.) 

[image: image108.png]



t = 1[image: image109.wmf]


t = 2[image: image110.wmf]


22. Simplify the following expression. 

[image: image111.png]b” +4b +16
7 — 64
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23. Perform the operations and simplify. 

	[image: image114.png]
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24. Perform the following operations and simplify the result if possible. 
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25. Perform the following operations and simplify the result if possible. 

[image: image121.png]e+4
20r +19 22+ 20x + 19
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26. Perform the following operations and simplify the result if possible. 

[image: image124.png]
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27. Simplify the following complex fraction. 
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28. Simplify the complex fraction. 
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29. Solve the following equation. (If there is no solution, enter NONE in the answer box. If any real number is a solution, enter ANY in the answer box.) 

[image: image133.png]



x = 1[image: image134.wmf]


30. Perform the division. Write the answer without using negative exponents. 

[image: image135.png]50x"y"
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31. Perform the division. Write the answer without using negative exponents. 

[image: image138.png]28 + 180
—10




1

[image: image139.wmf]



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image140.wmf]

1


32. Find the square root. 
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33. a0 = 1[image: image144.wmf]

, provided a ≠ 2[image: image145.wmf]

.

34. Simplify the expression. Assume that the variable represents a positive number. 

[image: image146.png]vV 256aV 256a3
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35. Simplify and combine like radicals. 
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36. Perform the multiplication and simplify. 

[image: image152.png](2v3+1) (V3-1)
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37. Solve the following equation. (Enter solutions from smallest to largest. If there are any unused answer boxes, enter NONE in the last boxes.) 

[image: image155.png]von —1





n = 1[image: image156.wmf]

 
n = 2[image: image157.wmf]

 

38. Perform the operations. Write the answer in a + bi form. 
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39. Write the expression in a + bi form. 
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40. Use the square root property to solve the following equation. (Enter solutions from smallest to largest.) 
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u = 

1
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u = 

2
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41. Use completing the square to solve the following equation. (Enter solutions from smallest to largest. If the solutions are complex, enter them from smallest to largest value of the imaginary part.) 

[image: image169.png]18p + 82





p = 

1

[image: image170.wmf]



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image171.wmf]

1


p = 

2

[image: image172.wmf]
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42. Use the quadratic formula to solve the following equation. (Enter solutions from smallest to largest. If the solutions are complex, enter them from smallest to largest value of the imaginary part.) 

[image: image174.png]M= + 56w + 1





w = 

1
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w = 

2
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